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Question Number : 1 Question Id : 4771872754 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Rakesh. a Class-IX student 1s actively involving in co—curricular activities than
curricular activities. This relates to

FE-IX F OIF THYT TSTFH Aol H Joar H ISTFHA TgIma
aifafafiat & ofea ®9 @ #1 9ar 81 98 559 g ¢ -

Options :

Inter-individual differences

g - ERfasse Brww

1. %

Intra-individual differences

| ¥ - R Rwww

2.
Both inter and intra individual differences

Neither inter nor intra individual differences

ST 3R o1 SRR RHW 2t o



Question Number : 2 Question Id : 4771872755 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT principle of child development
et fasre * rera Reuia $r gg==s T -

Options :

Development proceeds from general to specific responses

Ty gE=g ¥ Tfece gfafFamsd fr v aear &

Development follows the principle of interrelation

g 3iaTey & eud #7 9Ted T &

2. %

Development proceeds in the direction of the foot to head

TrwRvofrH e Faea

3.

Development exhibits lack of uniformity in the developmental rate of a

child
g e F JFg a7 & vHe9ar fr FAT Fr Er §



Question Number : 3 Question Id : 4771872756 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the periods of development given under List-A with stages as given
under List-B with respect to Erikson’s Psycho-Social Development Theory
RFsa & Aal-w@ATs @ew F fquid F #@e9w & g=3h-A 7 Qe v
e & Aauel F1 fFae g=-B # & 78 Fwuni F Hifaw

List-A List —B

Hefi-A a-B

(Period of Development ) (Stage)

T & Faua AT
A)  Birth to 1% vears i) Initiative Vs Guilt

SR W 1oAY Jgel FATH W e
B) 6 vearsto 12 years 1) Autonomy Vs Doubt

639 T 12 I T 9417 Heg
C) 3 years to 6 years 1) Trust Ve Mistrust

39 E 6 aW freare Famw sfFeaw
D) l% vears to 3 vears iv) Industry Vs Inferiority

2 a3 ad SET A dere

Choose the correct one

HET 397 F1 T fifaw

Options :
A=, Baw, O Den

1. ¢

A-iv, B-m, C-1, D-11
2. %

A-1i, B-iv, C-i1, D-1
3. %

A-m, B-1. C-1v. D-11



Question Number : 4 Question Id : 4771872757 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement relating to the growth and development
of a child

arerh & fF AR A @ w9feT ea Fua Fr ogaa fifev

Options :

1. ®

3. %

4.9

Development is comprehensive than growth

fore wfdEgee ¥ HiEs a9+ §

Growth includes quantitative aspects; development includes both

qualitative and quantitative aspects

HIGET H INAUTHF 97 MfFA gar ¥ T #FoquneAs A
IRUTATeAS gl 9gel A g &

Maturation and environment influence child’s development

IRgEaar 3T IaEr 929 F Ty F g9ieg 719 &

Growth 1s comprehensive than development

HAgeT fFm & #0F s §



Question Number : 5 Question Id : 4771872758 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following, identify the correct statements regarding the role of

heredity and environment on child development

o & @, 99% F TFw W 3gafierar A aaEr foAFE § &g
TEr Fua T gg=a FiAT
A) Heredity plays a role in physical development of the child
A TARaT 9ok F ANINF o # v A @rdr §
B) Environment plays a role in the emotional and social development of

the child

IIAERUT dTel & HIANS 3T d@39cAs @Fw # o Jasm Fumar
J

C) Development is the product of environment and heredity

fara ararEver AR IFETAFRAT F 39S §

D) Learning and maturation influence development of the child

HTeETH 3T aOs=ar a0+ F Ty Ff g9feg s &

Choose the correct one

HEr 397 #7949 HIfaT

Options :
A, C,Donly

Fael A.C.D
1. %

B, C. D only

FITB.C.D
2. %

A. B, Conly

&ael A.B.C
3. %

A:B.CD



Question Number : 6 Question Id : 4771872759 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A teacher has provided support to a student in performing mensuration
problems and has gradually withdrawn support after the student was able to
perform the problem independently. According to Vygotsky, this is

% frers o 1 &R gt 9t F 59 F9 H A Far ¥ T =9
O T&d9 ¥ T S 9947 H F Fa H T&FH @ Jar g o 3§ 9y
HEg FIT OIS AT | TEANCEH F HAEX TE -

Options :
Scaffolding
hwifesT

1. %
Fading
2.
Shaping
IRy
3. %
Guiding

ATl



Question Number : 7 Question Id : 4771872760 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per Kohlberg’s Theory of Moral Development. in this age. the child behaves

with obedience for avoiding censure by higher authority or social systems.

Figerast & Afas G F Reud F 38R, 3§ 378 # F=a1 399 s
T TATSH cTITATHT AT el & a9 F T HTAFNT c¥agR T g1’

Options :

4 to 10 years

4A¥109Y %

1. %
10 to 13 years
0¥ 1339 %
2.
3 to 8 years
3 AT T
3. %

& to 13 years

ST 1399 I+



Question Number : 8 Question Id : 4771872761 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Wechsler's Block Design Test. Picture Arrangement Test and Object Assembly
Test belong to this tyvpe of intelligence tests.

JUE ol BASa glieur, R c¥IEar 9iEUT gUT dewiwe  NHdr
o{TeTor FEr TLETT F FH YHFR ¥ FAOS & -

Options :
Verbal
AitE+

1. %
Performance
2.
Paper - pencil
FETA - FolH
3. %

Projective tests

QEITeAS JIEuT

4. %



Question Number : 9 Question Id : 4771872762 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who defined the personality as “the dynamic organization within the individual
of those psycho-physical systems that determine his unique adjustment to his

environment”.

“chfea F HaT 39 AA-aONF cagrarst F1 afqefie "@asa & A IaEr
F WY 3 WS FANAGA H Auid war g1 hud @fFace w7 s
e i &R -

Options :
Hillgard

feerams

1. %

Raymond B. Cattel

T ¥

2. %

Allport
itergie

3.¢

Carl Jung
FTel ST

4, %



Question Number : 10 Question Id : 4771872763 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
A (Class-X completed student wants to continue his study and at the same time
wants to join work to help his family due to socio-economic condition. The

conflict being faced by the student here 1=

THAT FaT OT FIT F A TF OF HTeA 928 AN @A F /T WATNAS-
s ofifEraat & Fror 3o 9fEr ff #eg & T F17 o F=r T T
¥ Ugl oI 5§ TUY & GrHAT 7 @1 & -

Options :

Approach-Avoidance

T - IRER

1. ®
Avoidance-Avoidance
. IRER - TRER
Approach-Approach
gieehIuT - Feearor
3.

Double Approach

ST TToEhIuT

4. %



Question Number : 11 Question Id : 4771872764 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct statements regarding the methods and approaches of Child
development

arer fasre #r AT A TeFvn ¥ §9iUT §El FUA AU

A)  Case Study Method 1s not applicable to an individual

F8 reaaa A Ry v safFa 9v amwp a8 @dr

B) Introspection Method lacks reliability. validity and objectivity
FreAfAferor e & Reawddaar, duar R aEgiesaar &1 3¥dE gar
g

C) Observation Method can be used to assess the behavipur of an

individual in natural conditions

N BfT #1 3umer s ool & & cafFa +
SEER FT HTFold Fld &+ o0 &Far 57 gFar &

D) Experimental Method advocates the study of behaviour under completely
uncontrolled flexible conditions
g B quf w7 ¥ afaaRa o= RfEufaar § a9 amer
¥ AT F wfawied Far §

Choose the correct one

e 39T FT TS AT

Options :
ABCD
1. %
AB C 01113'
*ael A B.C
2. %
B.C {}lﬂy
FaaB.C
3.9
A,C,Donly
FIATAC.D



Question Number : 12 Question Id : 4771872765 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Decision making. Problem solving and Logical thinking belong to this domain

AT 3T, THE FT GEUE F4T HT aifes Rae 3w &8y ¥ gefag -
Options :

Psycho-motor

HaAl-9TF

1. %
Cognitive
TAHATCHS
2.
Affective
AEIcHR
3. %

Conative

sTo-olfed gadr



Question Number : 13 Question Id : 4771872766 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following. identify those that are relevant to learning

T+ H ¥ 39T 9g9d v S a9y JeeH T § -

A) Unlearning is also considered as learning

HATEAT it TrE@AT AT AGT §

B} Learning 15 a product and not a process

it % 3cue £ F & s wfEar

C) Learning prepares an individual only for any maladjustment

e FFer cafFa it Faa FEARE F T $aR Far g

D) Learning results in behavipural change through practice

HEATH ¥ ZaRT eg9gR H ufaas #ftemer & aftons &

Choose the correct one

HEr 397 &7 997 Fifavw

Options :
ABCD
1. %
A B.Donly
Fgef A.B.D
2. #
A BC 01115'
FIT A B.C
3. %
A, D only
FIT A D

4.



Question Number : 14 Question Id : 4771872767 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the items in List-A with the needs they represent given under List-B
A # RU aw st w1 Fens B & sa@ g arel sraeasarst ¥
AT -

List-A List—B
Tf-A q-B
A)  Elders support i)  Esteem needs
ST FT FEART FATH HT AT TFA
B) Social status i1) Safety needs
wraTrer feufa LT FI HFITFATT
C) Sleep iii) Love and Belonging needs
A =g 3T 399 $r maeasar
D) Affection iv) Physical needs

=E e maemsar

Choose the correct answer

HET 397 FT TI99 Hifaw

Options :
A-m. B-1, C-iv. D-n1

1. %

A-11, B-1, C-1v. D-m1
2.

A-11, B-1i1, C-1v, D
3. %

A-iv, B-m, C-1. D-n



Question Number : 15 Question Id : 4771872768 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following. i1dentify the correct sequence of the steps involved in

learning process
o & ¥, e 9frar & ofae o F @@ 77 ft gue fiew
Options :
Goal. Motive, Overcoming obstacles. Achleving desired behavioural change

&, I, ATUTHT W FE IAT, FWEER H S IRIdd JIod Flal

1. ®
Goal. Overcoming obstacles, Achieving desired behavioural change. Motive
&, ATt W FE G, TR H Fifod aRaad g FET, WF
2. ®
Motive, Overcoming obstacles. Achieving desired behavigural change. Goal
U, AT W FE I, AEER A Fifod IREdd 9od B, T8
3. %

Motive. Goal, Overcoming obstacles, Achieving desired behavipural change

W, W&, AT W FG TAT, TEER F Ifod IREAT o FAT
4.9



Question Number : 16 Question Id : 4771872769 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the factor of learning which 1s associated with Men and Material

resources
A7 AR e gaeEt @ S g0 e F RS H 9gEa AT

Options :

Proper seating arrangement and peaceful environment

a5 7 3T sgawyr AT enfaqel aamEReT

1. ¢

Linking the recent learnings with those of the past

IIAT ¥ FOIH F 3T F HEH F s

2. %

The basic potential of the learner

sfeRTATFAT FT A &TFar

3. %

The level of aspiration and achievement motivation

HTHIET 3T ITATST ST FT T

4.%



Question Number : 17 Question Id : 4771872770 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the theories given under List-A with the basic principles given under

List-B

g-A # Gu v feuiat #1 Fes g=-B # fRr are faast @ fifsw

List-A
gHI-A

™
(Theory)

A} Operant conditioning 1)

[EXEn G LT

B) C(lassical conditioning 11)

AMEAT el

C) Trial and Error 111

o JuT o

1v)

Choose the correct one

HEr 397 1 93949 fifaw

Options :

A-1, B, C-11

A-iv, B-1, C-n
2.

List-B

-
(Principle/Laws)
foas

Learning 1= based on the principle

of association and substitution

@ w3 gfowmd &
Reura o smaia 8

Stamping 1n correct responses and
stamping out of Incorrect responses
el Igfsharst T T I =T
AR e Ffharat i fFET
AT

Emphasis on perceptual
regrganization

HIIROTcHS TS T ol
Emphasis on response rather than

stimulus

3EEITH F FAT fRAT 9 F



A-1v, B-m, C-11

A-1m, Baiv, C-n

Question Number : 18 Question Id : 4771872771 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
A (Class-V student observed the Gardening work and plantation activity of high
school students at school. He planted flowering plants at home. The action of the

student reflects this step of social learning.
FE-V H O T H g5 T 5 OEl F a0EEN FF T Famor

aifafaf &7 3gaFa Far § T & F Far F Gl FT A907 FIaT €1 o
FT I FI FHATSF ATH F =7 F1I F 9074 8-

Options :
Attention
2=
1. %
Performance

GA=IrC)

2.
Reinforcement

3. % W

Retention

HHuT



Question Number : 19 Question Id : 4771872772 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following. identify the aspects that can be transferred from one

situation to other situation of learning.

fara & ¥ 37 gt & gaa ffEr A d@wa v T ¥ gl
aRfeafa # 3R Fa=ERa & ¥ & -
A) Habits

HEd

B) Knowledge

AT
C) Skills

Fiere
D) Feelings

124

HTIATT

Choose the correct one

HEr 39¢ F1 9949 Fifaw

Options :
A B.C.D
1.¢
A C,Donly
%dol A, C.D

2. %

B. C. D only

&gl B.C.D
3, %

A, B.Donly

Fgef A.B.D

4. %



Question Number : 20 Question Id : 4771872773 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A Class-VII student tried to recall the concepts of Class-VI but the concepts

learnt in Class-VII are interrupting him. This 1s due to

FET-VII F UF O FeM-VI § Hdl 78 3TURonst FT I FA0T FA
T FA § Fhg FE-VII A HE 95 HTURONC SHA 9T 3c9e Fal
&1 FHHT FROT §-

Options :

Proactive inhibition

37 w@iea &Ey

1. %

Repression
2. ®

Amnesia
3 S

Retroactive inhibition

gaeardr foser

4.



Question Number : 21 Question Id : 4771872774 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Suggest the aspects which help individuals to improve their memory and
retention abilities
3 TgAHT H FEIET AT A AR F s TfT HR GRoT eAEanEt F#7

FUR FI H TEIAT Fd ¢ -
A) Appropriate motivation

st gTom

B) Over learning
Feafas e

C) Being more emotional

HPOF IF el

D) Association of ideas

oAt F1 Hesa

Choose the correct one
T 39T FT =939 v

Options :

ABCD
1. %

A B, Conly
&gl A.B.C

A, B, Donly
&gel A.B.D

B. C. Donly
F9a B.C.D



Question Number : 22 Question Id : 4771872775 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The educational programmes such as Acceleration and Enrichment are to be

followed by the teacher to deal with these students

T o ¥ fAuea ¥ v v s T or Y U 3w of s
FAFAT FT Il FIAT A0

Options :
Gafted
EIGEIKICI

1.

Learning disabled

HEETH HeTH
2. %
Physically challenged
. IHORE ¥ F e
3.

Slow learners

fF afy & dr@e arer



Question Number : 23 Question Id : 4771872776 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In this learning. Learners initiate and advance their learning by more

experienced partners

39 HftEH A, Remff sftw e @iyt F gy Fesr sfem &
AT Fd & HT 37 30T T2 £

Options :

Insightful Learning

Haetee st

1. %
Imitational Learning
HJFLUNcAF HIEETH
2. ®
Programmed Learning
. grEmes HiEETH
3.

Guided Inquiry Learning

IMMSIT =TI HTEETH



Question Number : 24 Question Id : 4771872777 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The teacher has to follow these steps to improve individual learning among

students

oEr F IfEgag #EHE 7t 99Er &7 F Ow fPrets F: 59 F9Et F77 9o
FAT =AMRT

A) Set clear and specific goals

oz HiT Bferee seat 1 Triwor w3

B) Make goals dynamic with revision at regular intervals

Tt 390 9T @ F 9T FETT i g 9944

C) Involve parents

Arar-foar #r i@ FE=T

D) Let students own their progress

BTET T IAT FITT BMHA FIA &

Choose the correct one

Ter 397 FT T4 T

Options :

A, B, Donly

¥ A.B.D
1. %

A, B, Conly

Fgel A.B.C
2. %

A, C.Donly

&gl A.C.D
3 %

AB.CD

4.9



Question Number : 25 Question Id : 4771872778 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

In SQ3R method, the learner has to follow this sequence
SQ3R fafr #, sfoemwsat #F 38 F7 F IFEOT FE=T AT
Options :
Survey, Question, Review, Read, Recite

HAeT0T, T, HHIET, TeaAT, AT

1. ®
Survey, Question, Read, Review, Recite
&0, T, ST, FHIET, AT
2. %
Survey, Question, Read, Recite, Review
TETOT, ToA, TS, GoATaAl, HHTET
3.¢

Survey, Read. Question, Recite, Review

HaT0T, IS, T2, AT, HHTET



Question Number : 26 Question Id : 4771872779 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the Phases of teaching given under List-A with the associations given
under List-B

T&r-A # fgr o Reror F won F Few @B # T v e |
EQIE 1y

List-A List-B
qf-A qd-B
(Phases) (Association )
TROT I
A) Pre-active 1)  Conducting Group activities In

o - ofeT the class
FET H HWHEF Taaredr FH

HATAA FIAT
B) Inter-active 1) Giving home assignments
A | IEFT AT
C) Post-active m) Writing lesson plan

q9T-HHT 18 it orgar
Chooze the correct one

TE 39T FT IIT RST

Options :
A, B, C-mn

1. #®

A, B-1, C-11
2.

A-in, B-i1, C-1
3. %

A-11, B-1, C-1

4.%



Question Number : 27 Question Id : 4771872780 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which one of the following strategies has less scope to promote group learning
among learners?

fafaf@a & @ fFe FOaEt & Raafier 5 &= aafes a3fem
TaT S HT IS FA A &

Options :
Discussions

=T

1. ®
Brain storming
aftass 7aa
2. ®
Lecture cum demonstration
SATEATT T 989
3.9

Seminars

AFER

4.%



Question Number : 28 Question Id : 4771872781 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the INCORRECT statement among the following regarding guidance

and counselling

frafaf@a & @, Anlgds ¥ Tt @ Fafte e Fu= o

Options :

In directive counselling, the counsellor plays an active role in

understanding problem

fdameas e &, TuEderar H gHE gEe § ahhT ffer §

1. %
In non-directive counselling. the counsellee plays an active role
IR fdenens e A, wmerEr F afE qfEw
2.
Directive counselling 1= also called as client-—centred-counselling
fardercas A F aEF-Figg-guAT off Far FaT §
3.¢

Vocational guidance helps in career planning and professional

development

EAEAS AR $RET O a9 I caEaas fTee #

eIl FLaT §




Question Number : 29 Question Id : 4771872782 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the learning styles given under List-A with the activities given under
List-B
T-A & & 7% sftem fr Aot w1 Few gEB & & a5 At @
EQIE 1y

List-A List-B
A B
(Learning style) (Activities)
sfeerer o= LInIEIB
A) Visual learning 1)  Listening to tape recorders
T AR TIR@ET & gaar
B) Auditory learning 11) Understanding Gestures
aur FfeETH arg #TET ¥ wHEE
C) Kinesthetic learning 1m) Preparing models

afa= afeErH - ECICCIGH

Choose the correct one
TEr 39X FT 99T hfaw

Options :

A-1, B-m, C-n1
1. ®

A-11, B4, C-m
2.

A-1, B-11, C-m1
3. %

A-m, B-11, C-1



Question Number : 30 Question Id : 4771872783 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The teacher can promote team work. leadership. conflict management and
interpersonal skills among learners in this type of learning
50 YR % HeEw A R Rew@at § &% 3%, a9, Ty yaua #R
URTE Hirar H TEET &aT §

Options :

Co-operative learning

TEarEt e
L

Teacher-centric learning

et - g JEeH

Self-learning

=-HiETH

Subject-centric learning

Ry s

4, %
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Question Id : 4771872784 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 35)

farafaf@a agzmr ke | 31 & 35 g v av weat F Qv 7 3w #7
T HIAT |

TR FlaT AR ffoew few 1 vF Fgcaqur 9Ee € S gAY
ATHAIT AR AT 3THI0N FT WG @Al § a9 H HAcg Fdr & | T8
HiAaTs AT # FAN 32T T Wed @ F v B 71w 39m3at 3 giranst
T weEfa g | dlemiFEhr & 3 ¥ 3 9ea ¥ Uiy, wded @Rt & 9fy
WA+ TEAT 9gd Hgeaqul @ TAT ¥ | HS F WER F3 TAS H AT,
gferar, TRf3reT, Jgara & & 9, Hiaensr 3@ & I, WEaT Ferrhd HR
s feer AfeT TEa @l F FE &9 &, S Aot 3R ST B gAe
¥ W FFAW GLAT FFA § | WIS G F AET AoAag orwas, FafEa
TIFCTA HIST AT GRS SHHT WANAT FT AR FIF 57 Tl FH Awar
g | 3EH NI F GIET ST HAe & AR 7 ffara weer ofr onfEe §

Sub questions

Question Number : 31 Question Id : 4771872785 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

e GIaT SHE 9 H HEraaT Fdl § -

Options :

Reea = &

gfEag IEFHT §

FTHIOT T

TEa WAl ¥

4. &

Question Number : 32 Question Id : 4771872786 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Trafof@a # o g gEa @aur A4 ¢ -



Options :

TS Tl fohar

Question Number : 33 Question Id : 4771872787 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Hga gletar 3T ghemar I FHAA Tgad € |
Options :

FI qTEgar

. shfeaar AT Fersar

2. %
FId HISAT
3. %
samar 3T giRarst
4. %

Question Number : 34 Question Id : 4771872788 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

$oleh ZENT TEaY WA FT F7gT U1 AT FohdT & -
Options :

HHAT 9HaE

1. ¢

Fafaa groreday 3use



43:4?133?@'&

Question Number : 35 Question Id : 4771872789 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

AT e @aU ¥ FE 9T 99 TFa 87
Options :

SigAfaEhr F1 A7 T

BT $TAT FT Helold F4

e aa & @anr

HiTe=d FT F5

Sub-Section Number : 2
Sub-Section Id : 477187146
Question Shuffling Allowed : Yes



Question Id : 4771872790 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (36 to 40)

farafaf@a ggziy afew | 36 @ 40 a% Rw v weal F &l 3 &1 994
EIIE |

TF %F, A AAAA §,

# o g Ifer-urr-oa,

e T Fd FT T |
$H TIE W T T FHA,
TH AR & AT 7 T,
ar g AT FT W e,
SEaT-90 H9IAT 7 FHET |

93T FIA? - AE Fd F -

& I 93q yaferar ark,

HTIAT AT TH & THIhT

ST g AFHI THET |

Sub questions

Question Number : 36 Question Id : 4771872791 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
FT T8 TFaT TES £ -
Options :

% HI

1. %

FId A9 T

o AT >

a9, T AT T F
4. ¢

Question Number : 37 Question Id : 4771872792 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :



Fa T=T F AAT 8 |

Options :

Question Number : 38 Question Id : 4771872793 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
ST F HJHER el d ¢ -
Options :

Held U F¢ o Hehdl
1. %

3dil 9Y &7 o HepeAl

HESA-9Y 7 FTAT 91T

AT T 9T AT

Question Number : 39 Question Id : 4771872794 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
For T qaferdr AT § -

Options :

1. %



°Jd, 19

2. ¢
93d, FTell

3. %

L Freill, 299

Question Number : 40 Question Id : 4771872795 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Fi Fras @1y J=T 9EdT 87
Options :

AT F

1. %

IS +
2. ®

333;;'?*

IHehol

4. &

Sub-Section Number : 3
Sub-Section Id : 477187147
Question Shuffling Allowed : Yes



Question Number : 41 Question Id : 4771872796 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

TR s T g asd s Resr Hrman ¢ -
Options :

=g TIH A% WIEsT

l. %

= TeRT HE WEEA
2. %

=T gFH 3% GEEA
3.8

=g U 36 WEEA
4. %

Question Number : 42 Question Id : 4771872797 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
frafafe & ¥ 78 T3 (399 e ¥ ) 91 ¥ -
Options :
SR AT

1. *®

UHT SR 39T § #HU

2.¢



Question Number : 43 Question Id : 4771872798 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

FAN g 915 & foum g -
Options :

Hiear

Question Number : 44 Question Id : 4771872799 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
dd, A d HHT ¥ S AA9d @idT €, 9§ Tholdl 9T § | IHT FEAH H
H YN F 3307 ¢ -

Options :

FYETEE T

[
Trogmar=s gaaTH

.. C
He g HealA

ICECICER-Cair:]



Question Number : 45 Question Id : 4771872800 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Frafaf@a & ¥ 38 307 o9 & 9 F EnT fEw JF I ot F
T g 3 -

Options :

sy
1.+

Question Number : 46 Question Id : 4771872801 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

el UARH JgI1aAT |

(A) TTERRT T faaor forar Smer # |

(B) F&TT TS ATl & |

(C) 14 Fg=X ¥ e arar fCaw Aamar a1 & |
(D) SfEf@art #1 3a=a &Far Jmar 2

Options :
A D, B, C
B G DA

C,B, D, A

D, A C, B



Question Number : 47 Question Id : 4771872802 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Teae@a # ¥ 79 FSr 9890 |

Options :

Ufga S CEEIE]
1. %

RS -
2. ¢

HeArar - ToEmEr
3. %
L% TgEEAT - A

Question Number : 48 Question Id : 4771872803 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :

ART FT TET eT AT ¥ | T & TYFS [@iihd U SHH THER E -

Options :

EJEIEE RNl
1. ¢

gfyATOEEE Ferwor
2. %

TEgETES ST

g HF faegor



Question Number : 49 Question Id : 4771872804 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

AT HEOAT-HERIG 1 &7 % [T Ia-HI8T0T 3aed ¢ | {@ifFa o 39

THATH FT 3EEL0T & -

Options :

dr§¢ﬂ HHIH
1. %

E{iai‘l HATH
%

2.

.- HcgdTET §AH
gded WATH

4.9

Question Number : 50 Question Id : 4771872805 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
TG g SH WY FT 30T § -
Options :

yaITE /i

1. %

gefr HfY

2. %

Zor T@fer
3. ¢

T HiEr



Question Number : 51 Question Id : 4771872806 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

frateaf@a & & 37 o wfoer 787 2 -

Options :

CICE
1. ¢

Question Number : 52 Question Id : 4771872807 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

fasrater _ “swsft _ F93 Sgo o, Al af |al ot et REe
T F T 3yges Baw REw A € -
Options :
frders fREer, seafans
1. ¢

FouteH, A REa

dfeRm, o

FeqfaTH, R

4. %



Question Number : 53 Question Id : 4771872808 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

T & SW-3W @1 | {WiThd g & -
Options :

Ifaae=s Sarfaeyor

1. %

FAHEE SraraersoT
2. ¢

FroET=IF FHATSEoT
3. %

EIEC I CIEE E T E Rl
4, %

Question Number : 54 Question Id : 4771872809 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

T AT 7Y ¥ HAThT HE HEEU TEAaAT |

Options :
H@r # g Hihe

1. ¥

HET # o Srerar

AT BT 9T 3=

3cef deAledl
4, %



Question Number : 55 Question Id : 4771872810 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

ITS-TTSTAT 10 THT TF 8T+ FI SEHT AT T HG2TF Ael ¢ -

Options :

e ST =T, eHarst

Question Number : 56 Question Id : 4771872811 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
5H A F 3=ER0T # $63 ¥ I I ¥ AFadr € @ qT-ER F g 2
T FFd F gL TS 39 gidl & -

Options :
101



Question Number : 57 Question Id : 4771872812 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

frafaf@a & ¥ 78 srgfess TiieT #1 99R 76 § -
Options :

SFarcas 9iteT

1. ¢

| a'g'-ﬁw &

2.9

HcATEcT q{reTT

TRFT qier

Question Number : 58 Question Id : 4771872813 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
freafofae & ¥ 77 fower frae F1 Jgaagt Fas ¢ -

Options :

AGA-TF HTUF =& 2T AT |

1. %

IR F AT FT AHTeT HeRT FT Fexar W AF A= & 0 |
2.¢

THeH BIe-gic 37 o ¥ O wgar =nfgr |
3. %

IIeTRl 1 93T 5 TEG T 98T A5 T @ F fOr FEem @i

4. %



Question Number : 59 Question Id : 4771872814 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

fRretor 1 3@ GUET H1 3gged BE A fAdierr, wdieror R Raa quin #
g F=T -

Options :

aﬁwwmz?r

1. %

SATEAT JUTTT
JeTAT JOTRI

JUIA YU

4. %

Question Number : 60 Question Id : 4771872815 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
fRreror Fr 3w /A F FIgam =1 g e e & o A% g R a
s

Options :

STecd ATAaT

2. %

Hegare fafer
3 %

gegey i
4.

Language II English

Section Id : 47718793
Section Number : 3

Section type : Online



Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Mandatory
26

26

30

0

1
477187148
Yes



Question Id : 4771872816 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)
(61-65) Read the following passage and choose the correct option for
each question.

The International Space Station {:ISS:} iz a multinational initiative and the
largest single structure ever constructed by humans in space. Its main
construction was finished between 1998 and 2011, though it has continued to
evolve with new missions and experiments. The ISS has been continuously
occupled since November 2, 2000.

Rather than being owned by one country, the ISS operates as a
collaborative program involving Europe, the United States of America, Russia.
Canada, and Japan, as noted by the European Space Agency (ESA). The cost of
operating the station is approximately $3 billion annually for NASA, which
represents about one-third of its human spaceflight budget. according to the
agency's Office of the Inspector General

As of May 2022, 258 people from 20 different nations have visited the ISS.
The United States of America with 158 individuals and Russia with 54
individuals are the leading contributors. Astronauts and research time on the
space statlon 1s allocated to different space agencies based on their financial and
other respurce contributions, such as modules or robotic systems.

Sub questions

Question Number : 61 Question Id : 4771872817 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Astronauts and research time on the space station are assigned to varipus

space agencies based on the following contribution.

Options :

soclal service-related
1.

environmental
2.

finanecial and other resources
3. ¢



educatignal

Question Number : 62 Question Id : 4771872818 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ISS has maintained a continupus human presence since the year

Options :

| = 2022

v 2000
1998

3. %

\ 2011

Question Number : 63 Question Id : 4771872819 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct statement about the International Space Station (ISS).
Options :
It i1z a multinational initiative and the smallest single structure ever
constructed by humans in space.
1. %
It 15 a multinational initiative and the largest single structure ever

constructed by humans in pcean.
2. %

It 15 a multinational initiative and the largest single structure ever

constructed by humans in space.

It 1s only NASA's initiative and the largest single structure ever

constructed by humans mn space.



Question Number : 64 Question Id : 4771872820 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the passage, this country has sent more astronauts to the ISS.

Options :

France
1. %
Russia
2. ®
Japan
3. % P
The United States of America
4.

Question Number : 65 Question Id : 4771872821 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the European Space Agency (ESA), the ISS operates as a collaborative

program of the following.
Options :

Europe, the United States of America, Russia, Canada, and Japan
1.«

Europe. the United States of America. Russia, India, and Japan
2. ®

Europe. the United States of America. Germany. Canada. and Japan

Europe. the United States of America. Russia, China and Japan

4. %
Sub-Section Number : 2
Sub-Section Id : 477187149

Question Shuffling Allowed : Yes



Question Number : 66 Question Id : 4771872822 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
brought books to the library to study together.

Choose the correct option to complete the sentence.
Options :
They, there

1. %

There, their
2. %

Their, they
3. %

They, their
4.

Question Number : 67 Question Id : 4771872823 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Read the following two sentences.
Sentence A: She came here to studying at the college.
Sentence B: She came here to study at the college.
Choose the correct option.

Options :

Only the sentence A 1s correct.

Only the sentence B is correct.
2.

The sentences A and B are correct.

The sentences A and B are incorrect.



Question Number : 68 Question Id : 4771872824 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The passenger runs to catch the train.

Choose the option to complete the sentence.

Options :

% fastly
quick

2. #

3 @ quickly
slow

4. %

Question Number : 69 Question Id : 4771872825 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The minister the prizes to the winners at the end of the function.

Complete the sentence with correct option.

Options :

gave away
1. ¢

gave up
2. %

glve up
3. %

ave back
4% B



Question Number : 70 Question Id : 4771872826 Question Type : MCQ Option Shuffling
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Sharath will not obey you. Talk to him politely.
Combine the two sentences.

Options :

Sharath will not obey you unless you talked to him politely.
1. %

Sharath will not obey vou unless you don't talk to him politely.
2. %

Sharath will obey vou unless you tallk to him politely.
3. %

Sharath will not obey yvou unless you talk to him politely.
4. ¢

Question Number : 71 Question Id : 4771872827 Question Type : MCQ Option Shuffling
Number : Yes

Correct Marks : 1 Wrong Marks : 0
My brother was driving the car.

Choose the passive voice sentence for the given sentence.

Options :

The car was been driven by my brother.

1. #

The car was being driven by my brother.
2.

The car was driven by my brother.
3. %

The car had been driven by my brother.
4. %

: Yes Display Question

: Yes Display Question



Question Number : 72 Question Id : 4771872828 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
I said to my friend, ‘Please lend me your cycle.’
Change the sentence into indirect speech.

Options :

I requested my friend to lend him his eycle.

1. %
I requested my friend to lend me your cycle.
2. %
s I requested my friend to lend me his cycle.
. My friend requested me to lend his cycle.
4.

Question Number : 73 Question Id : 4771872829 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
He offers abundant evidence that he is right.
Identify the meaning of the word ‘abundant’.

Options :

ample
1.

meagre
2. ®

minimal
3. %

acant



Question Number : 74 Question Id : 4771872830 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
His knowledge of history 1s profound.

Identify the opposite meaning of the word ‘profound’.

Options :

| % sincere
scholarly

2. ®

_ erudite
superficial

4,

Question Number : 75 Question Id : 4771872831 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The study of birds is called

Options :

anthropology.
1. %

ornithology.
2. ¢
3 % zoology.

mythology.
4. %



Question Number : 76 Question Id : 4771872832 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the meaning of the idiom “a dark horse’.

Options :

A wild animal

1. %

A black horse
2. ®

An unknown entry
3.

A front runner
4.%

Question Number : 77 Question Id : 4771872833 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify INCORRECTLY spelt word.

Options :

privilege
1. ®

maintenence
2.9

exclamatory
3.8

colleague

4, %



Question Number : 78 Question Id : 4771872834 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify meaningful sentence.

Options :
Conversion of agriculture into forests land is weakening India’s monsoon.

1. #

Conversion of forests into monsoon land iz weakening India’s agriculture.
2. ®

Conversion of monsoons into agriculture land is weakening India’s forests.

Conversion of forests into agriculture land is weakening India’s monsoon.
4. <

Question Number : 79 Question Id : 4771872835 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

It was raining heavily yesterday. ?
Choose the correct option to complete the sentence.
Options :

wasn't it

1.

18n't it
2. %

s 1t
3. %

was 1t



Question Number : 80 Question Id : 4771872836 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

When no one came  to help him, he herself picked the bag.

A B C D

Options :

Question Number : 81 Question Id : 4771872837 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the grammatically correct sentence.

Options :

All the five man’s were very energetic and eager to perform their duty.
1. ®

All the five men were very energetic and eager to perform their duty.
2.

All the five mens were very energetic and eager to perform their duty.

All the five men was very energetic and eager to performed their duty.



Question Number : 82 Question Id : 4771872838 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arrange the options to make a meaningful sentence.
P:In every country. people often

Q:the best and the most intelligent.

R:as less capable or inferior in comparison.

S:while viewing people from other countries
T:believe that theyv themselves are

Choose the correct option.

Options :

2.

3.

4.

P.Q.T.R.S

P.T.Q.S. R
'y

PR Q. T.8
®

P.T.R.Q.S

®

: MCQ Option Shuffling : Yes Display Question



Question Number : 83 Question Id : 4771872839 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the option that uses the article ‘the’ INCORRECTLY.

Options :

He was the first man to arrive.

) The wisdom is the gift of heaven.

The rose is the sweetest of all flowers.
3. %

The darkest cloud has a silver lining.
4. %

Question Number : 84 Question Id : 4771872840 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

She her camera on the sofa.

Complete the sentence with correct option.

Options :

laid
1.



Question Number : 85 Question Id : 4771872841 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

An interactive communication between two or more people 1sa/an
peop ;

Options :

story.
1. %

conversatlon.

2.
essay
3. % :
apeech.
% 0

Question Number : 86 Question Id : 4771872842 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The best known advocate of “Spiral Curriculum’ is

Options :
Bruner

1.

Noam Chomsky
2. %

Antony EM

Brendan J. Carroll



Question Number : 87 Question Id : 4771872843 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In a primary school classroom. an English teacher should create an environment
that is

Options :

focused on writing and giving home assignments.

1. ®
strict and following formal methods of teaching.
2. ®
stimulating, inclusive, and focused on student participation.
3. ¢
teaching and learning that relies solely on the textbook.
4. %

Question Number : 88 Question Id : 4771872844 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The following theme 1s inappropriate for the English mstruction at the primary
level.

Options :

Friendship and Kindnesa

1.

Sports and Games
2.

Home and School
3.

World Heritage and Culture



Question Number : 89 Question Id : 4771872845 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main goal in teaching the skill of speaking is to

Options :

memorize the vocabulary and reproduce.
1. ®

express oneself intelligibly. reasonably and accurately.
2.

assist learners in writing without making grammatical errors.
3. %

develop reading skills through speaking activities.
4. %

Question Number : 90 Question Id : 4771872846 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following two statements about language learning.

Statement A: Language learning needs tolerance on the part of the teacher.
Statement B: Mistakes are natural and inevitable part of the learning
process.

Choose the correct option.
Options :

Only the statement A 1s correct.

1. %

Only the statement B 1z correct.
2. ®

The statements A and B are correct.
3.9

The statements A and B are incorrect.
4. %

Mathematics



Section Id : 47718794

Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187150
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 4771872847 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Rational form of 3.7 is

3.7 & 9NHT §9

Options :
37

100

37
99

34
99



Question Number : 92 Question Id : 4771872848 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
[(=3) x (=) x (=5) x (—6) X (=7)] =

Options :

[~
L
(]
]

1. ¢

2. %

3.

Question Number : 93 Question Id : 4771872849 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The population of a town 15 108090. Out of which 29040 are men and 28105 are

women and the remaining are children. Then the number of children 1s

T MY T FAA HEAT 108090 § 3947 ¥ 29040 oW Y 28105 fF=a1 &
AT Frhr F=ar T gEAm § O F=ar F gEa 24 gel

Options :

1. #®



Question Number : 94 Question Id : 4771872850 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The marks got by a student in 4 subjects In an examination are 228. If the
average marks of 3 subjects 1z 56, then how many marks did the student get in

the fourth subject?
4 fawgt & foareft & zanr oo fFw v Oofew F 3w 228 #) 3fy 3 fAwat
FTr drOg ¥+ 56 g ar 9 @vy F urg 3F F3w g

Options :

L% 58
62

2. %

3@ 60
64



Question Number : 95 Question Id : 4771872851 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following fractions 1s least?

& H O #7371 == oer i

Options :
98
100
1. %
23
25
2. %
10
11
3.¢
57
59



Question Number : 96 Question Id : 4771872852 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
If each side of a triangle 1s % rd of its perimeter, then type of the triangle 1s
afy Begs & 53 e 1 9fE - ¥ a9 e 1 oveR E

Options :

Isozceles

ECAEEIN)

1. ®

Equlateral

Gt

2.¢

Right angled

, x WHESIOT

Obtuse
37T+ o7

4.%



Question Number : 97 Question Id : 4771872853 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following number 1= divisible by 67

T dasladrgemre @ Raneaaa &

Options :
179184

Question Number : 98 Question Id : 4771872854 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of millimetres in 100 Kilometres 1s
100 Freteter Fr gear Feider &7

Options :
10°

1. %

107
2. %

10°

108



Question Number : 99 Question Id : 4771872855 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of edges 1n a tetrahedron 1s
TIsholh & harl & F&

Options :



Question Number : 100 Question Id : 4771872856 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A 60cm long wire 1s used to form following shapes. Which of them will have
shortest side?

60 WA o AR F ITANT ¥ @ JFRT FT F=m I § FiE § AR
#r =T FEE TR EEm

Options :

a sguare

9T

1. %
an equilateral triangle
GEICICHREEE]

2. ®
a regular pentagon
FaET dere

3. %

a regular hexagon

Fafaa wesor

4.



Question Number : 101 Question Id : 4771872857 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

38X38X38-26X26X26
38x38+38X261+26X26

Options :
12

1728

Question Number : 102 Question Id : 4771872858 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ratio of the cost price and the selling price is 8:10. The profit percent is

FT 7T AN FT 757 F Fgaa 8:10 aF & qiaee -

Options :



Question Number : 103 Question Id : 4771872859 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT correct?
T o Flgaradragt ¢

Options :

= 15
15 tenths = —

: [
15 @errer = =

3025 grams = 3 kilograms 25 grams

3025 IMA = 3 FFaEmH 25 IH
2. %

: MCQ Option Shuffling

Area of a rectangle 4.5m X 0.5m = area of a square with side 15cm

AT FT TGS 4.5m x 0.5m = T T &T6d FFHr =1 15em

0016 =16 x 1073

4.%

: Yes Display Question



Question Number : 104 Question Id : 4771872860 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The place value of 0 1n 2225.106 1s

2225.106 ¥ 0 FT TIHT Hod

Options :
Hundreds
1. %
Tenths
2. %
Tens
3. %

Hundredths
giat s
o

4. %



Question Number : 105 Question Id : 4771872861 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

an 1 ; ; : :
Ramu gave his sister = th of chocolates available with him. He gave his brother

2 o i
Fa rd from the remaining and left with 48 chocolates. The number of chocolates

available with Ramu at first 1s

T & T B T 4 SEEN - qE SEE ded W g R R oA
THAT FT - AT 3T S F F R AR 48 T 79 A A T F T
IR # e e A

Options :

240
1. ®

180
2. ¢

360
3. %

480



Question Number : 106 Question Id : 4771872862 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following numbers is divisible by 2, 3, 6 and 8?

T F T FTdrgEar 2, 3, 6 3T 8 ¥ fwfog g &7

Options :

24810
] ®

43888
2. %

34800
3.

42316
4, %

Question Number : 107 Question Id : 4771872863 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

4 men can complete a work in 24 days. then 12 men will complete the same

work in how many days?
4 FEH TH FH HF 24 feA@ A qOT Fa & F9 12 IEHA 3E FA A
foraer foat & ot 5w

Options :

12
1. #®

2
2. %

6
3. %

S

4. &



Question Number : 108 Question Id : 4771872864 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

35m? is the area of

35m? SIF §
Options :

A square having side 35m

Us T FEdr =T 355

1. ®

5 squares having side 7m each

5 T3 e g+ o= 7H &

2. %

35 squares having side 1m each

35 Fe1 o gois o= 1A &

3.¢

7 squares having side 5m each

7 T3 St 9w =T 5 &

4. %



Question Number : 109 Question Id : 4771872865 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number 3 crores 6 lakhs 4 thousands § hundred sixty-nine in numerals can

be written as

TEAT 3 F5 6 9@ 4 g9X 8 Tl 37897 F TEAHSF &9 #H Fu fomr
ST g
Options :

30604869
1. ¢

360400569

2. %

36004569

306045069

Question Number : 110 Question Id : 4771872866 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
(3°)°-
Options :

38

1. %



Question Number : 111 Question Id : 4771872867 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

: o A
There are 72 students in a class. If the number of boys 12 C times the number of

girls, then the number of girls 1s

e T # 72 feeandt ¥ afy e Hr wear asthar £ v ¥ 2 o ¢
ar asfFat fr g7 Far el

Options :

27
1. %

Question Number : 112 Question Id : 4771872868 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of points present on a straight line are

T WYl 3@ W 398 fawgat i wea

Options :

0
1. *

2
2. %

(0]
3.9

1



Question Number : 113 Question Id : 4771872869 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s an even integer when n iz an odd integer?
e n v FwE U § O FE 7 ¥ IF w7 Ui gen -
Options

bn + 8

1. %

3
- 3n° +5

3n? +4

4n? — 5
4. %

Question Number : 114 Question Id : 4771872870 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If sum of prime numbers less than 25 13 A and mean of odd numbers less than

101z B, then&:

B
25 ¥ FH HATST TEIATHT FT TGA A § T 10 ¥ FH7 w7 =g
HTEHBE'FEI'%:

Options :

.
1. 20

18



Question Number : 115 Question Id : 4771872871 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following best describes the nature of mathematics?

e fof@a # & Fi7 o1 709 f w7 &1 798 37=o7 I09 W &

Options :

It involves abstract thinking and logical reasoning.

sH HAy FRiaa 3R arfds o+ e g

1.

It 12 limited to solving routine classroom problems.

g TafAa wem 1 gEEET F g o TF @FT g

2. %

It 1s exclusively concerned with principles.

g 9w 7 ¥ Reuar ¥ g49fea g

It 13 a language used only 1n art and engineering.

Tg FIT FaT AT SHHIALT F AT FHT AT Jrelr ATST &

4.%



Question Number : 116 Question Id : 4771872872 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
If a child 15 consistently strugghng to count bevond 20. what should a

primary mathematics teacher do first?

e FE I=a7 TG 20 ¥ 39T O # ooy T wr & O wufEs
A0S + TAeTF FT FIW Igol FAT FIAT IIgT?

Options :

Doing challenging addition problems.

TAEUT ST FHEAT g FIAT
123 = L9

Reciting the numbers.

TEATHT FT 918 FIAT

Conduct of daily tests.

o= giteTu #7 O=TeT F4ET

Strengthening counting skills by utilizing conerete objects.

3 FEGIT FT ITART FIF aar Sl F A= FE



Question Number : 117 Question Id : 4771872873 Question Type : MCQ Option Shuffling

Number : Yes
Correct Marks : 1 Wrong Marks : 0

A rubre 1s:
T+ ®ie+ %’:
Options :
A standardized test prepared by the experts.

farerw=l GE SO UF AT Fd TUE0T

1. %
A multiplication and division trick to answer within seconds.
kst # 39T & % fov aquia 3k T & G

2. %

A scoring guide that provides criteria for assessment.

UF FHINGET MBS A AediFa & [T AES 97 FIm €
3.9

A graphing tool to solve algebraic equations and algebraic problems.

: Yes Display Question

d=im A 3T ST gaEERt Fogd w0+ Or ok afes

FIRIOT
4. %



Question Number : 118 Question Id : 4771872874 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the features of mathematics listed in A with their corresponding

actipns in B.:

WA # & o A H ORI B OGhB F & A AW

Bramatt & e
A B

A)  Creativity i)  Breaks down problems logically
TEATHFAT THEATH T AIfF §F F ASaT &

B) Analytical Thinking 1) In-depth content knowledge
feresuTeR= d=r e fawT T7g A=

C) Communication 1ni) Use innovative methods
H=T ST Tl FT FIART F

D) Conceptual Understanding iv) Explaining mathematical ideas
HFhoTalcas THAH ATOTET 391aT T SATEAT FIAT

ChGDSE the correct answer

HETr 397 FT 9T FI

Options :

A-1, B-iv, C-111. D-11

1. %

A-in, B-1, C-1, D-1v

A-1i, B-1. C-1iv, D-11

A-1v, B-1, C-1m1, D-n



Question Number : 119 Question Id : 4771872875 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The instructional objectives are:
HACATCHF 3T &

Options :

More related to classroom teaching.

TR FeTTreT foreror & T &

1.

Achievable in the long term.

Ereierrer & 9o fRaT e ¥

2. %

More absatract.

e g

Not measurable.

A9 AT AT



Question Number : 120 Question Id : 4771872876 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A teacher asks students to guess, "If a square piece of paper is cut diagonally,

what shapes will be formed?"

U+ fUeTF Sl FI FAA o9 F T Fear § Il FOT F 0F TFE
FI T IR F FET A1GT & JF FiTET JAFT 49

A) Two rectangles

CARGIE

B) Two circles

ar ga

C) Two triangles

2 Frge
D) One triangle

o g
This question relates to this academic standard.
Tg 99 39 dffF Aves g wElag &

Options :
Connections

FAFIA

Visualisation

ATATES =0T

2.

Problem solving

HAHT HATHA

Reasoning and proof

= 3T gATOT



Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Environmental Studies

47718795
5

Online
Mandatory
30

30

30

0

1
477187151
Yes



Question Number : 121 Question Id : 4771872877 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Plants can be classified into the following categories
gt i eafaf@a st & seffga frar o gt 2
Al herbs
B) shrubs
C) trees
S

Choose the correct answer

HET 397 FT 999 FL

Options :

A & Bonly

Fad A& B
1. ®

B &‘: C 0111}.'

Fad B & C
2. %

A&C 01115'

FaaA & C

3. %

AB&C
4.



Question Number : 122 Question Id : 4771872878 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Riya often peels vegetables like carrots and cucumbers before cooking. Her
teacher advised her to use them with the peel whenever possible. as it helps
improve digestion. The food component in the peel that is likely the reason for
thiz advice 1s:

fr s/ar e i Eir ST afesat i g O 9ger Sedr &1 3EEr
frferr & 3% womg &7 &F 39 ot ©19 @1, 3¢ s wfea & s Y
FIfF FEY 9= H GUR BT § | o # 39ad a8 weg-ues S
THId: 50 ToAlg FT HROT § -

Options :

Protein

Fat

3. %

Vitamin

ICEIL:G]

4.%



Question Number : 123 Question Id : 4771872879 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement about hermaphroditism.

FAfolETar & I F TE FAF F 92T F

Options :

Hermaphrodites can only reproduce asexually.

IHATENT Fad e 7 § 9979 F{ §54 21

1. %
All animals are hermaphrodites by nature.
- Tt AEE T O S g £
Hermaphrodites possess both male and female reproductive organs.
IR FIOEAT H A7 3T AET ST F 9ol 39T 90 J9 & |
3. ¢

Hermaphroditism occurs only in plants.

IHITOETAT Fger gl H 93T ST §



Question Number : 124 Question Id : 4771872880 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The primary purpose of rearing the Kangayam bullock 1s:

FAMAA deT HI Ilelad FHT AATHF 38827 E|

Options :

Racing

als

1. %
Milk production
q Scdige

2. ®
Drought work
FoIT FIH

3.9

Wool production

4 % Sl JFcHlcd



Question Number : 125 Question Id : 4771872881 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the device, commonly used in industrial chimneyz to reduce air

pollution by removing particulate matter from flue gases. from the following

fafoma & ¥ 39 3uaor #1 9gas w, s suanr e
Fafaat & v 6 @ FOFgFa 9@ F g Y IGE0T F FA
¥ T frar =T 2

Options :

(Gas turbine

- g EEa
Electrostatic precipitator
fPadega ey
2.
Heat exchanger
ITAT FT JTSTH-9STT Flad STl
3. %

Blast furnace

aq wEd



Question Number : 126 Question Id : 4771872882 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Testing for the presence of starch in a food item should be done on:

U We-9ery # Ter™ i sutsafa &1 alieror fRar e anfgo
A) Cooked food

TR g M=
B) Raw food
F=dr AT

Choose the correct answer
HET 397 FT 9949 FI

Options :
A only

FTT A

B only
+ad B

2. %

Both A & B
A& B 2=t

3.¢

Neither A nor B
AMTB # 2 o T8

4, %



Question Number : 127 Question Id : 4771872883 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of ribs present on each side of the human chest

AHT BT F I3F HT ggiodr $Fr g&ar

Options :

13 ribs

13 wgferar
1. %

12 ribs

12 ggferar
2.

11 ribs

11 ggferar
3. %

10 ribs

10 ggforEm



Question Number : 128 Question Id : 4771872884 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The balance of oxygen and carbon dioxide in the atmosphere is maintained
through:
IAGAVST H FFHSAA 3T Faa 518 FFAES F Hdoldl [ha+ ATH d

JATC T@&T AT & |
A) Respiration — Plants

TH - 9

BE) Photosynthesis — Plants
Yl HeeWoT - qie

C) Photosynthesis — Animals
YT HREWOT - T

ChODEE‘ the correct answer

el 397 FT T4 FI

Options :
A & B only

Fad A&B
1. ¥

B&'Cﬂlﬂy

FaAaB&C
2. %

:J'i& COIﬂ:r

FaATA&LC
3. %

AB&C



Question Number : 129 Question Id : 4771872885 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following declared a ‘no drive zone' within a 2.5 km radius of the
Taj Mahal?

=@ 7 o s asFea 5 25 A F gy & A 3Eg S
uifee & g

Options :

Archaeological Survey of India

AR RIdcd Fefaqor

1.

Central Pollution Control Board

Fearr gewur fag=or ars

Supreme Court of India

IRT F1 Tafzg =a e

Ministry of Environment. Forest and Climate Change

TAIER0T, 39 AR Ferayg IREdd #A9eT

4, %



Question Number : 130 Question Id : 4771872886 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

What fraction of the Earth's fresh water iz available in the form of ice and

snow?

gzl F AT o & Tohdar 3 9% AR BFE F § F 396

Options :
1
| % 10
1
3
2. %
5
3. ® i
2
3

4. &



Question Number : 131 Question Id : 4771872887 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement regarding renewable and non-renewable energy

sources.

TR HIT FFSHONT FAT THar F T F 2T AT FT 92T F

Options :

2. %

4. &

Renewable energy sources are always more efficient than

non-renewable sources in energy conversion.

FAI FAAEI0T A AhFONT FAT TT T@ET FFaEOtT w=Er
o # Hfaw Fe g g

Non-renewable energy sources are infinite and can be replenished
naturally within a short time span.
HAGRONT FA1 TG 360 ¢ 3R 3¢ 9% 77 & AR Tpias
] ¥ 9 9Iod AT AT HHAT E

Both renewable and non-renewable energy sources emit equal levels of

greenhouse gases during energy production.

TaoiT 3T TS0l St FST TEIT 33T & 39T ¥ THY
Meaerzw A6t F §AF 6T F1 3cH7Ad 7 £

Renewable energy sources include solar. wind. and geothermal. while
non-renewable sources meclude coal. o1l. and natural gas.

AIFONT FAT FAAr # WX, g99 3R Erda F=r onfae € se9fE
HASHFONT Tl # Fgerr, a0 A gl dw onfae #



Question Number : 132 Question Id : 4771872888 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following food items help in increasing the quantity of blood 1n
the human body?

fFeafaf@e & #i7 o1 ey 99t AT R F @ 7 3 g # #ee
FLT gl

Options :
Chips. soda, and white bread
fereg, grer it g 9T

Peanut bar, gingelly bar (Til), and eggs
HIell #1 9&dl, faer $r 9eé va v

2.

Pickles, fried snacks, and candy

AR, del T T+, U9 31

3. %

Instant noodles. coffee, and sugary drinks

§TeT F5od, FIHI TF AFhIgeFd 9T

4. %



Question Number : 133 Question Id : 4771872889 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In 1565. the five Bahamani Kingdoms joined together and defeated this

Vijayanagara ruler at Rakkasi Tangadi war

1565 #H, 9i< TgHA«T HATSAT A AT EHrEr J9r8 Igu # 56 Aeaen
ATHF I i o -

Options :

Achyuta Raya

HJ=dd

Aliya Rama Raya

, o 3T T/ I

Venkatapati Raya

Jheda ITT

Saluva Narasimha Raya

AMeT AT T

4. %



Question Number : 134 Question Id : 4771872890 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following principal followers of Jainism. the Rashtralkuta rulers

were

frafaf@a 37w % 9@ AqaEEr & TgHe aHw ¥ -

Options :
Chandra Gupta II and Udayana
Teaed 11 3T 3834

1. %

Kharavela and Samprathi

- @Rae 3T gufy

Hamundarava and Kharavela

g0 HR @REA

3. %

Amoghavarsha and Krishna IV

44}%&311?35@71‘%5



Question Number : 135 Question Id : 4771872891 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

In 1956, the number of States and Union Territories created by the States

Reorganisation Commission

1956 # T=T T95sT FHRN F gaNT 3a Td A Fg AMfAd J¢r 1T T -

Options :

14 states and 6 Union Territories

14 =T 3T 6 Fg afadg 9r

1. ¢

28 States and 9 Union Territories

28 =T T 9 Fg afET 9 r

18 States and 7 Union Territories

18 =g 3T 7 g afag 9gor

20 States and 8§ Union Territories

29 =g AT 8 Fg AT I&U

4.%



Question Number : 136 Question Id : 4771872892 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

One among the following was NOT the Prime Minister of India between 1989 and

1991
faof@a & @ = 1989 ¥ 1991 ¥F ¥ HRT + Tu=H4T Aaf o -

Options :
LK Gujral
TSI
1. ®

Deve Gowda
CERIIE]

Vishwanath Prathap Singh

fregetrer yam fag

3. %

Morarj Desal

ARG 36T

4.



Question Number : 137 Question Id : 4771872893 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following i1s the aim of 4274 constitutional amendment of the Indian
Constitution
feafof@d & ¥ 98 9dT e & 42 § durfas @eiad &1 38897 o7 -
Options :

Malking the Judiciary subservient to Parlament

=OT9TioT FI TES F 3T I

1.

Enactment of the Official Language Act

Ty FAOETE I yaETEa

2. %

Bringing Education Under Fundamental Rights

forer =1 ®ifts 3Rt F 39T o=

Strengthening the State Government vis a vis the Central Government

$% THR F THET T8 WHT FT AT TAA



Question Number : 138 Question Id : 4771872894 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Rawi1s travelling from New York to New Delhi by Aeroplane. Then Ravi

T gasaes % 2@ I+ @ A% el FT AW T W g | 99

Options :
loses time of 4 minutes as he crosses every longitude

Jmamaﬁmmw4ﬁmwmwmﬁl
1.

gains time of 4 minutes as he crosses every longitude

T+ ST HT I Fld W3 4 PAc FT gAT 9a1 ¢ |

2. %

neither gains nor loses the time

AT FT FEIET A AL AT T FFAA oA 7 |

3. %

almost lozes 24 hours by the time he reaches New Dellhi

7% feeel 9=t a% g ST 24 WT AT AT E |



Question Number : 139 Question Id : 4771872895 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

These mountain ranges form the eastern edges of the Deccan Plateau
¥ 999 HEAC GFhA TR F @ ARl FT FAT FIGT §
Options :

The Satpura Range

1. % E J

The Mahadev. the Kaimur range and a portion of Maikal Range

FERE, X TaaATeT HT HFTE TETHAET F TF AT
o

2.9

Western Ghats

gfeadT Ore

3. %

Nilagir: Mountain Ranges

AT 999 AT



Question Number : 140 Question Id : 4771872896 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :
In India. the major tea producing region among the following is
frafaf@a & ¥ 98 9T #1 974@ 919 3c9EH &9 ¢ -
Options :

The hilly regions of Assam

| v ITEA F GG 8T

The Baba Budan Hilly Region

L x T IS TEIST &1

The Nilgiris in Karnataka. Kerala and Tamil Nadu

- FACH F Ay, Fa M A3

The Andaman and Nicobar Region

FEATT HT FFER &7

4. %



Question Number : 141 Question Id : 4771872897 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main objective of Integrated Watershed Management Programme in

drought prone areas i= to
[EIET &3 F ThT T 9T FAFT F JET 36827 ¢ -

Options :
Strengthen the community and enable them to plan for proper utilisation

'Df natural respurces

HASTT FI Hee = AT 3¢ Wplas HEUA F 30T 939 F v

AT 94T H He&TH a1
1.

Provide water to drought prone areas continugusly

@EIET &5 H oo 1o 39eed FI&1=0

Undertake plantation in large scale

;x5 A W FARIOT FAT

Encourage the farmers to undertake community farming

framat 1 aHE @ % fav Siearfegd w3



Question Number : 142 Question Id : 4771872898 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Bhakta Prahalada, the first talkie movie which was released in 1931 was

produced by

1931 & fIeisr 29 Treir gger Serar fFer o199 ygog F Faar ¢ -

Options :
Raghupathi Venkaiah Naidu
Tgufe dFzar ara3

1. %

Edida Nageswara Rao
TEIET ARRET 9

2. %

Hanumappa Muniappa Reddy
geIACdT HfAgedr 39
3.
M.V.Raghu
THALTY

4. %



Question Number : 143 Question Id : 4771872899 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

To spread awareness among daliths by using Popular Folk Arts, Bhagva Reddy

Varma started

ARIAT @ HTHT FT TR FTh gloldl H ARTHAT o F &0 J7F 33
FAT A .......... FT 3T FFAT

Options :
Adi Hindu Society

| w e fég g

Jagan Mitra Mandali
5 T AT FEelr

Satya Shodak Samaj
, T MUF FATH
3.

Sharada Sadan

ANCET Haad
4, %



Question Number : 144 Question Id : 4771872900 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
This amendment made to the Indian Constitution says that “the state shall provide

free and compulsory Education to all children between the ages 6 and 14 years

AR HiaWT FT I8 Hoel Fgar ¢ 5 -T7 6 & 14 a9 $ 317 F F0
F=at #1 oo 3 sfeard frem we= FeEm

Options :

61° Amendment

61 a1 HeTuw

1. %
4274 Amendment
42 a1 gerred

2. ®
86t Amendment
86 I1 HauA

3. ¢

10278 Amendment

102 T HeaA



Question Number : 145 Question Id : 4771872901 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
During a science lesson, Ms. Patel asks her students to work in small groups to
conduct an experiment and discuss their observations. Which type of learning
interaction 1s primarily being emphasized in this activity?
e & vF 96 ¥ g g WA 7w Rewfiar # ook wEgr A
FH FF AN 39S HFASAT W T A F T FEr | g9 AR &
7T ¥9 # 59 v i @@ Fr dafrar w SR e s @ @

Options :
Student — Content Interaction

o - fawT gvg TR

1. %
Student — Teacher Interaction
, % O - forer 3T fFaT
Student — Student Interaction
., SH-TH 3 S

Teacher — Content Interaction

frer - R awg s Gran

4. %



Question Number : 146 Question Id : 4771872902 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is least relevant when evaluating the effectiveness of a

science period plan at the primary level?

IS T W e 3Ef gear fr garasfiear 1 Jeaied S T T
fAeafor@d # ¥ Fi9-01 §a0 FA THEF £

Options :

Motivation of students in the teaching-learning process

feretor-3rfirery 9ferar & o=t £ Som

1. %
Clarity in explaining the content
frsr-awg #r sarear # Fosea

2. %
Effectiveness of assessment methods
Hodia fafaat v wemaefiear

3. %

Teacher’s dress code

Tt 7 290 I3



Question Number : 147 Question Id : 4771872903 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
An EVS teacher, Kalpana, always encourages her students to decide the final
result not with a single observation, but after making several observations. This

1= called:

T TAERer g fr RfEe, souan, v et #t g s aR F
HIollhel T ¢! dfeh F5 d¥ F 3Fdhad + a¢ faxw afomr w Fo
WFRTHERT AT | W FT AL -

Options :

Inferencing

AHATA STAT
1. ¢

Classification

FaftRTuT

2. %

Prediction

ENEEE

3. %

Questioning

99T FHLAT
4. %



Question Number : 148 Question Id : 4771872904 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the NCF-2005, the following are to be taught in Environmental Studies

at Primary Stage

NCF-2005 % 38R, WafEF T | W0l yomma § &&= #
fareTor ger =nfew

A) Environmental Protection
B) Poverty

I
C) Child Labour

diel HH
D) Illiteracy

IGEGEGI

E) Caste and Class equalities

At 3T T AT

Choose the correect one

HET 397 FT 7394 Fif=T

Options :
A,B,C.D.E

1. ®
A.B.C.Donly
Faod A.B.C.D

A B,C.Eonly

%3 A.B.C.E
3. %

A, C,E only

Fa A.C.E



Question Number : 149 Question Id : 4771872905 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The lesson — “Child Rights” — was developed based on the following theme in

Envirgnmental Studies

qITEIONT eTTd F a9 HOFR - 918 # FAr e ¥ =w T
F HuR WX fFaT T -

Options :
Safety
e
1. ®

Food. Health & Hygiene
e, T\ AR F=Eoar

2. ®
Values and Rights
Heat 3R sfawR
3.9
Travel
EE]



Question Number : 150 Question Id : 4771872906 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The following activity will NOT help the teacher to create the effective EVS

(Environmental Studies) classroom environment

ffofaa 7R s Res F gaEemeh § & g (qaiEir seame)
FETFE F ITGE0T FT FAOT FA F FEIam Aef T £ -

Options :

Discuss in groups
A 7 ==
1. ®
Think and Say

., s

Collect and Record the information (Tables)

FATFET (A1) FT Hhald FT 3T 78 F=

Reading the books

y &I HT T4
4, ¥



